


Title: DUAL PHASE DOUBLE DEADEND ON 5' FIBER ARM Rev. Date: 10/10/2017

Pic # Description IBM NO. Qty

1 CROSSARM, 60" x 3" FIBERGLASS (FOR DEAD ENDING 
CONDUCTORS) 285-21-13755 1

2 BOLT MACHINE 5/8" X 14" W/NUT 285-08-10788 2
3 WASHER SQUARE 5/8" 250/BX 285-08-15320 4
4 WASHER SPRING DOUBLE COIL 5/8" 500/BX 285-08-85430 5
5 INSULATOR PIN TYPE 15KV 286-42-25100 2
6 PIN STEEL 5/8" X 5-3/4" W/NUTS 285-39-10246 2

7 INSULATOR DEAD END 3.5" X 12-1/2" LENGTH CHANCE #C654-
3015 286-42-26020 4

8 CLAMP DEADEND STRAIGHT LINE ALUM ACSR .470" TO .198", 
2/O TO #6 285-13-16395 4

9 BOLT DOUBLE ARMING 5/8" X 14" 285-08-21552 1
10 1 PT RACK GALV 1-1/2" X 1/2" X 1/8" CLEVIS 285-39-14039 2
11 INSULATOR SPOOL TYPE SECONDARY 286-42-23310 2

Construction Standard No. OH-1415

Garland Power & Light

OH-1415


	OH-1415 Pictorial
	OH-1415 Material List
	OH-1415


